
















Study the following information carefully and give the answer.

Percent profit of two companies in different years

विविन्न िर्षों में दो कंपवनयों के लाि प्रविशि वदया गया ह ै।
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What is the difference between the average  % profit of 
company A and that of company B in all the years ?

सिी िर्षों में कंपनी ए और कंपनी बी के औसि% लाि के बीच अिंर क्या ह?ै









he basic fuel expenditure of a country is dominated by four major uses - Domestic, Transport,

Industry and Electricity. In 1992, the total amount of energy used was equivalent to 600 million

tonnes of coal. एक दशे के बवुनयादी ईधंन व्यय में चार प्रमखु उपयोग होिे हैं - घरेल,ू पररिहन, उद्योग और वबजली।

1992 में, उपयोग की जाने िाली ऊजाा की कुल मात्रा 600 वमवलयन टन कोयले के बराबर थी।



The energy consumed for other purposes is

approximately what percentage of total energy

consumed for the other four major uses in 1992

was? अन्य उद्दशे्यों के वलए खपि की गई ऊजाा 1992 में अन्य चार प्रमखु

उपयोगों के वलए खपि की गई कुल ऊजाा का लगिग वकिना प्रविशि थी?

A. 5%
B. 6%
C. 20%
D. 33%
E. None 



What is difference between energy used for domestic purposes and other 

purposes in the country in 1992? 1992 में देश में घरेलू उदे्दश्यों और अन्य उदे्दश्यों के 

ललए उपयोग की जाने वाली ऊजाा के बीच क्या अंतर है?



The difference between the fuel consumption of Industry and 
Transport in 1992 was equal to? 1992 में उद्योग और पररवहन की 
ईंधन खपत के बीच का अतंर बराबर था?



If the energy requirement of electricity in 1992 were 350 million tonnes, the 

amount of additional primary energy required would be? यलद 1992 में लबजली की

ऊजाा आवश्यकता 350 लमललयन टन थी, तो अलतररक्त प्राथलमक ऊजाा की लकतनी मात्रा की 

आवश्यकता होगी?















































































3.



4.



5.



A ship develops a leak 12 km from the shore. Despite the leak, the ship is able to move towards the shore

at a speed of 8 km/hr. However, the ship can stay afloat only for 20 minutes. If a rescue vessel were to

leave from the shore towards the ship and it takes 4 minutes to evacuate the crew and passengers of the

ship, what should be the minimum speed of the rescue vessel in order to be able to successfully rescue

the people aboard the ship? एक जहाज िट से 12 वकमी दरू एक ररसाि विकवसि करिा ह।ै ररसाि के बािजदू, जहाज 8

वकमी/घटंा की गवि से वकनारे की ओर बढ़ने में सक्षम ह।ै हालांवक, जहाज केिल 20 वमनट िक ही िैर सकिा ह।ै यवद एक बचाि

जहाज को वकनारे से जहाज की ओर जाना हो और जहाज के चालक दल और यावत्रयों को वनकालने में 4 वमनट का समय लगिा ह,ै

िो बचाि जहाज की न्यनूिम गवि वकिनी होनी चावहए िावक िह सिार लोगों को सफलिापिूाक बचा सके समुंद्री जहाज?

A. 37km/h 

B. 45 km/h

C. 38 km/h

D. None 
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The speed of a boat in still water is 18 km/h and the speed of the current is 6 km/h. In

how much time (in hours) will the boat travel a distance of 90 km upstream and the

same distance downstream? शांि जल में एक नाि की गवि 18 वकमी/घटंा है और धारा की गवि 6

वकमी/घटंा ह।ै नाि धारा के प्रविकूल 90 वकमी की दरूी और धारा के अनकूुल समान दरूी वकिने समय में

(घटंों में) िय करेगी?

(a)𝟏𝟏
𝟏

𝟒

(b)10 

(c) 𝟗
𝟏

𝟐

(d)12
(e) None 



A boat moves downstream at the rate of 1 km in 7
1

2
minutes and upstream at the rate of 5

km an hour. What is the speed of the boat in the still water? एक नाि धारा के अनकूुल 1 वकमी

की दर से 7
1

2
वमनट में चलिी है और धारा के प्रविकूल 5 वकमी प्रवि घटें की दर से चलिी ह।ै शांि जल में नाि

की गवि क्या ह?ै

a) 3
1

2
km/hour

b) 6
1

2
km/hour

c) 4    km/hour

d) 6    km/hour

e) None 



If a boat goes upstream at a speed of 24 km/hr and comes back the same distance

at 40 km/hr. What is the average speed (in km/hr) for the total journey? यवद एक

नाि धारा के प्रविकूल 24 वकमी/घटंा की गवि से जािी है और 40 वकमी/घटंा की गवि से समान दरूी पर

िापस आिी ह।ै कुल यात्रा के वलए औसि गवि (वकमी/घटंा में) क्या ह?ै

(a) 32 

(b) 30 

(c) 31 

(d) 33











A motorboat can travel at 10 km/h in still water. It travelled 91km downstream in a

river and then returned to the same place, taking altogether 20 h. The rate of flow of

river is? एक मोटरबोट शांि जल में 10 वकमी/घटंा की गवि से चल सकिी ह।ै यह एक नदी में धारा के

अनकूुल 91 वकमी की यात्रा करिा है और वफर उसी स्थान पर िापस आिा ह,ै वजसमें कुल वमलाकर 20

घटें लगिे हैं। नदी के प्रिाह की दर ह?ै (a) 3 km/h (b) 4 km/h (c) 2 km/h (d) 5 km/h




























